TALLER 13:

IDENTIDADES TRIGONOMETRICAS

Nombre:

Curso:

Docente:

Fecha:

Demostrar las siguientes identidades trigonométricas

&.

Cosx Secx =1

Senx . Csex =1
(1+ Cos x)1- Cos x)=Sen” x

Senx
———=(s5cx
1-Cos x
Cos x

+8enx=Cscx
Senx

Tan® x Cos* x=1-Cos* x

ks =Cosx
Cof x+Tan x
Cos x
secx+lanx=——
- Sem x

10

11.

14.

14+ Sen x

=1+Cosx
Senx

Sen - x—Tan* x
=Sen x

Cosc x

Sen x +l:'-|'.'-'..‘-TI_1
Cosx+1 Secx

Cos x Cosx
+

=2Tanx
Coscex Secx-—1

1-Cosx  Sec x—1

"1+Cosx Secx+1

1 N 1 !
Cosc x  Sec*x
Sen x

Cofx+ ——=Cosx
1+Cosx




